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(#6]  Consider the problem faced by (he government af choosing the level of a tax so

as lo maximize revenue.  Let the deinand and supply functions be

demand: q,=1%4 -3p

supply:  q,=2p-6

(3) Suppose a flat-rate tax of t per unit is imposed on the supply of goods,
What is the tax, I, that maximizes tax revenue?  What would be (he price,
quantity, and tax revenue in equilibrium?  (10%)

(b} Alernalively, if a percentage tax of r is charged, what is r that maximizes
tax revenue?  Compare the resull with {a}. {10%)

(#77] The tatal cost function for a product is TC = g’ +20q” + 20 and the demand
function is g + p = 240, Find the price and level of output required to maximize
a monopolist’s profit.  (15%)

(#8] The utlity function of a cansueer is U = 6xy where x and y are the quanfities
' consured of two goods.  The price of x is § per unit and that of y is 10 per unit.
If total expenditure is limited to 100, what is the maximum value of U?  {]5%)



